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= ROET
AALBERAIEFLE
AR B SHSEE (FIH) SH4FEE (R SHA4EE
* B FHEALE (%) | B3| FHE%EALE(%) || FHE%ELE(%)
EHAT—MRFRE AR 21 89.30 23 88.54 60 89.10
OHBREFHEAR) (0) (0) (0) —
B EALL 0 — 0 - 0 -
& &t 21 89.30 23 88.54 60 89.10
TEEHREALE
TEiER| SHSEE (FIH) SH4FEE (R SHA4EE
B FHEALE (%) | B3| FHE%EALE(%) || FHE%ELE(%)
TtR—=KT=E 16 89.30 11 87.95 32 89.13
EIE T 1 89.07 1 89.26 6 89.37
fRATE 0 - 2 88.47 2 88.47
ERIE 1 91.63 0 - 1 88.27
LY+ T-avh—hIE 0 - 0 - 2 90.80
UL T-avH)— T EGEE) 0 - 1 89.60 1 89.60
BE-XIE 1 88.84 1 88.60 1 88.60
KEMEZTE 0 - 2 90.91 2 90.91
G- £ T-av o — RSB TS 0 - 0 — 2 89.26
BEXEIEIE 0 - 1 88.18 1 88.18
®sTXE 1 88.35 3 88.63 3 88.63
WKEEISE 0 - 0 - 3 87.12
BETE(ZKER) 1 88.66 1 88.69 2 88.77
EEIE 0 - 0 - 1 89.47
ERXFESRIE 0 - 0 - 1 89.51
& &t 21 89.30 23 88.54 60 89.10
SEFTEFIELE
TEiER| SHSEE (FIH) SH4FEE (R SHA4EE
B FHEALE (%) | B | FHE%EALE(%) || FHE%ELE(%)
TREBER 10 89.45 10 88.81 31 89.39
E MR EER 4 90.18 0 - 4 91.74
EFTFKER 5 88.57 7 88.11 15 87.91
ZDith 2 88.60 6 88.59 10 88.89
& &t 21 89.30 23 88.54 60 89.10

SRR AL (%) = S FE AL+ 45 x 100




